WORK AUTHORIZATION #03 NASSAU COUNTY BOARD OF COUNTY COMMISSIONERS

Consultant:	Asphalt Paving Systems, Inc.
Contract Number:	CM3015
Contact Name:	Robert Capoferri
Contact Number:	(813) 788-0010
Email:	Amandareichartaps@gmail.com

Project Short Title:	Double Chip Seal Vari	ORK AUTHORIZATION ous Roads FY23-24			
CONTRACT OVERVIEW					
Date Submitted	12/27/2023	Total of Previous Authorizations	\$908,872.54		
Amount	\$484,967.11	This Work Authorization	\$484,967.11		
Scheduled Completion	9/30/2024	New Contract Amount including this work authorization	\$1,393,839.65		

This Work Authorization is to the AGREEMENT between Nassau County and Asphalt Paving Systems, Inc. ("Vendor") for Alternative Paving Methods, dated July 12, 2021. The services to be provided under this Work Authorization are as follows:

ARTICLE 1. Services Described as:

Vendor shall provide a double chip seal treatment to the 2023-2024 list of prepared roads in accordance with the Project Proposal, a copy of which is attached hereto as Exhibit "A".

ARTICLE 2. Time Schedule

Vendor anticipates their earliest starting date to be thirty (30) days from receipt of execution of this Work Authorization and the completion date to be no later than September 30, 2024, to complete the Scope of Work.

ARTICLE 3. Budget

Vendor will perform the services outlined herein for the lump sum amount of Four Hundred Thousand Eighty-Four, Nine Hundred Sixty-Seven Dollars and 11/100 (\$484,967.11). Vendor will be using rates previously established under Contract CM3015, and any amendments thereto.

ARTICLE 4. Other Provisions

The Services covered by this Work Authorization will be performed in accordance with the provisions set forth in the AGREEMENT referenced above and any of its attachments or schedules. Additional terms or contract provisions whether submitted purposely or inadvertently, shall have no force or effect. This Work Authorization will become a part of the referenced AGREEMENT when executed by both parties.

Any Work Authorization entered into prior to expiration or termination set forth in the AGREEMENT shall continue in effect through the earlier of: (i) the date all of the Services thereunder have been fully completed and accepted by Nassau County, or (ii) until such time as such Work Authorization expires or is terminated in accordance with its terms or is terminated pursuant to Article 2 hereof.

In presenting this Work Authorization, Vendor agrees that:

Unless detailed herein, all drawings, data, electronic files and other information required for this Work Authorization has been accepted by Vendor. Specifically, all electronic files have been reviewed and accepted for the purposes of this Work assignment. Any additional information, including detailed scope of services are attached.

AGREED TO BY:

BY: Robert Capoferni

Print Name: Robert Capoferri

Title: President

Date: 1/2/2024

[This space intentionally left blank.]

RECOMMENDED AND APPROVED BY NASSAU COUNTY:

Doug Podiak	
Kanasi Kalmori	
Cliris Lacambra	17
Taco E. Pope, AICP	
Taco E. Pope, AICP	
*See below	
John A. Crawford	
Denise C. May	as
Denise C. May	
BOARD OF COUNTY COMMISSIONASSAU COUNTY, FLORIDA By John F. Martin Its: Chairman	ONERS
	Cliris Lacambra Taco E. Pope, AICP Taco E. Pope, AICP *See below John A. Crawford Denise C. May Denise C. May BOARD OF COUNTY COMMISSIONASSAU COUNTY, FLORIDA By John F. Martin

Revised 11/17/2022

EXHIBIT "A" PROJECT PROPOSAL



DATE: 12/8/2023

TO: David Hearn

Nassau County Road and Bridge Department

37356 Pea Farm Rd Hilliard, Florida 32046 904-530-6175 Office

RE: Project proposal

2023-2024 Double Chip Seal Various Roads

FROM: Asphalt Paving Systems, Inc.

Kris Shane - South Florida Rep

9021 Wire Road Zephyrhills, FL 33540 Ph: 813-480-1865

Product	Description	Units	Quantity	Uı	nit Price		Total Price
			1			_	
	Driveways based on 20x10 driveway- will be invoiced on actual square yards						
	Pandy's Pl						
4.00	Double Application Chip Seal	SY	1,112.00	\$	5.47	\$	6,082
6.00	Emulsion (prime for base including sand)	GAL	200.16	\$	3.53	\$	706
7.00	Emulsion for Fog Seal	GAL	200.16	\$	3.48	\$	696
8.00	Chip Seal Driveways	SY	133.44	\$	25.00	\$	3,336
						\$	10,821
	Lonnies Ln						
4.00	Double Application Chip Seal	SY	1,156.00	\$	5.47	\$	6,323
6.00	Emulsion (prime for base including sand)	GAL	208.08	\$	3.53	\$	734
7.00	Emulsion for Fog Seal	GAL	208.08	\$	3.48	\$	724
8.00	Chip Seal Driveways	SY	138.72	\$	25.00	\$	3,468
						\$	11,249.
	Oneil Scott Rd						
4.00	Double Application Chip Seal	SY	5,067.00	\$	5.47	\$	27,716
6.00	Emulsion (prime for base including sand)	GAL	912.06	\$	3.53	\$	3,219
7.00	Emulsion for Fog Seal	GAL	912.06	\$	3.48	\$	3,173
8.00	Chip Seal Driveways	SY	608.04	\$	25.00	\$	15,201
						\$	49,311.
	Cedar Ave						
4.00	Double Application Chip Seal	SY	1,667.00	\$	5.47	\$	9,118
6.00	Emulsion (prime for base including sand)	GAL	300.06	\$	3.53	\$	1,059
7.00	Emulsion for Fog Seal	GAL	300.06	\$	3.48	\$	1,044
8.00	Chip Seal Driveways	SY	200.04	\$	25.00	\$	5,001
						\$	16,222
	Milton Rd						
4.00	Double Application Chip Seal	SY	2,000.00	\$	5.47	\$	10,940

6.00	Emulsion (prime for base including sand)	GAL	360.00	\$ 3.53	\$	1,270.8
7.00	Emulsion for Fog Seal	GAL	360.00	\$ 3.48	\$	1,252.80
8.00	Chip Seal Driveways	SY	240.00	\$ 25.00	\$	6,000.00
					\$	19,463.6
	Dawson Rd					
4.00	Double Application Chip Seal	SY	1,945.00	\$ 5.47	\$	10,639.1
6.00	Emulsion (prime for base including sand)	GAL	350.10	\$ 3.53	\$	1,235.8
7.00	Emulsion for Fog Seal	GAL	350.10	\$ 3.48	\$	1,218.3
8.00	Chip Seal Driveways	SY	233.40	\$ 25.00	\$	5,835.0
					\$	18,928.3
	Glenwood Rd					
4.00	Double Application Chip Seal	SY	3,556.00	\$ 5.47	\$	19,451.3
6.00	Emulsion (prime for base including sand)	GAL	640.08	\$ 3.53	\$	2,259.4
7.00	Emulsion for Fog Seal	GAL	640.08	\$ 3.48	\$	2,227.4
8.00	Chip Seal Driveways	SY	426.72	\$ 25.00	\$	10,668.0
					\$	34,606.2
	Bell River Estates Rd					
4.00	Double Application Chip Seal	SY	3,778.00	\$ 5.47	\$	20,665.6
6.00	Emulsion (prime for base including sand)	GAL	680.04	\$ 3.53	\$	2,400.5
7.00	Emulsion for Fog Seal	GAL	680.04	\$ 3.48	\$	2,366.5
8.00	Chip Seal Driveways	SY	453.36	\$ 25.00	\$	11,334.0
					\$	36,766.7
	Coopers Neck Rd					
4.00	Double Application Chip Seal	SY	10,556.00	\$ 5.47	\$	57,741.3
6.00	Emulsion (prime for base including sand)	GAL	1,900.08	\$ 3.53	\$	6,707.2
7.00	Emulsion for Fog Seal	GAL	1,900.08	\$ 3.48	\$	6,612.2
8.00	Chip Seal Driveways	SY	1,266.72	\$ 25.00	\$	31,668.0
					\$	102,728.8
	Timmons Rd					
4.00	Double Application Chip Seal	SY	2,712.00	\$ 5.47	\$	14,834.6
6.00	Emulsion (prime for base including sand)	GAL	488.16	\$ 3.53	\$	1,723.2
7.00	Emulsion for Fog Seal	GAL	488.16	\$ 3.48	\$	1,698.8
8.00	Chip Seal Driveways	SY	325.44	\$ 25.00	\$	8,136.0
					\$_	26,392.6
	Ogilvie Rd					
4.00	Double Application Chip Seal	SY	7,334.00	\$ 5.47	\$	40,116.9
6.00	Emulsion (prime for base including sand)	GAL	1,320.12	\$ 3.53	\$	4,660.0
7.00	Emulsion for Fog Seal	GAL	1,320.12	\$ 3.48	\$	4,594.0
8.00	Chip Seal Driveways	SY	880.08	\$ 25.00	\$	22,002.0
					\$	71,373.0
	Oak Hill Ln					
4.00	Double Application Chip Seal	SY	4,667.00	\$ 5.47	\$	25,528.
6.00	Emulsion (prime for base including sand)	GAL	840.06	\$ 3.53	\$	2,965.
7.00	Emulsion for Fog Seal	GAL	840.06	\$ 3.48	\$	2,923.
8.00	Chip Seal Driveways	SY	560.04	\$ 25.00	\$	14,001.0

						\$ 45,418.31
	Palm Tree Dr					
4.00	Double Application Chip Seal	SY	1,795.00	\$	5.47	\$ 9,818.65
6.00	Emulsion (prime for base including sand)	GAL	323.10	\$	3.53	\$ 1,140.54
7.00	Emulsion for Fog Seal	GAL	323.10	\$	3.48	\$ 1,124.39
8.00	Chip Seal Driveways	SY	215.40	\$	25.00	\$ 5,385.00
						\$ 17,468.58
1.00	Mobilization	EA	2.00	\$	7,500.00	\$ 15,000.00
2.00	Maintenance Of Traffic	2%	1.00	\$	9,215.04	\$ 9,215.04
	County to mark out driveways prior to APS mobil	lizing		\perp		
	Measurements need to be field verified after road	ls are prepped				
	Driveways invoiced off of actual SY's used			T		
	2 Mobilizations- roads to be done in 2 phases					
		L	<u> </u>	+-	Total	\$ 484,967.11

Respectfully Submitted,	Accepted By:
Kris D. Shane	
Asphalt Paving Systems, Inc. Zephyrhills, Florida c: 813-480-1865	Signature:
e: k.shaneaps@gmail.com	Date: * Proposal valid for 30 days.

Project Street list

EM	STREET NAME	FROM	TO	LENGTH	WIDTH	TOTAL UNITS	Comments
	Pandy's Pi	Old Nassauville Rd	DE	500	20.0	1,111.11	
	Lonnies Ln	Oneil Scott Rd	DE	520	20.0	1,155.56	
	Oneil Scott Rd	Lonnies Ln	DE	2.280	20.0	5,066.67	
_	Cedar Ave	Blackrock Rd	DE	750	20.0	1,666.67	
	Milton Rd	Radio Ave	Dondor Ln	900	20.0	2,000.00	
	Dawson Rd	CR 108	DE	875	20.0	1,944.44	
	Glenwood Rd	Cedar Ave	DE	1,600	20.0	3,555.56	
	Beli River Est Rd	Roses Bluff Rd	DE	1,700	20.0	3,777.78	
	Coopers Neck Rd	Lessie Rd	DE	4,750	20.0	10,555.56	
	Thomons Rd	Lessie Rd	DE	1,220	20.0	2,711.11	
	Ogilvie Rd	Lem Turner Rd	Corley Dr	3,300	20.0	7,333.33	
	Oak Hill Ln	River Rd	DE	2,100	20.0	4,666.67	
	Palm Tree Dr	SR 200	Pinewood Dr	850	19.0	1,794.44	
				21,345.00		47,339	



Asphalt Paving Systems, Inc. Kris Shane - South Florida Rep Zephyrhills, FL 33540 Ph: 813-480-1865